
To make scientific nation have a bigger exponent:

• Move the decimal left

• Add the number of times you moved the decimal to the 
exponent.

31 2 4 10) .

72 7 1 10) .

93 8 2 10) .

44 4 6 10) .

-3 + -5 =
-1 + -3 =
-6 + -2 =
-9+ -14 =
-12 + -8 =

SAME SIGN
•Ignore the signs
•Add numbers
•Put sign back

-3 + 5 =
-1 + 6 =
-5 + 9=
5 + -7 =
8 + -6 =
14 + -18 =

DIFFERENT SIGNS
•Ignore the signs
•Subtract
•Put sign back of 
number that “looks” 
the biggest



1. Change the minus sign to addition
2. Change the second number into the opposite
3. Do the problem like a regular addition problem

5 – 7
-3 – 6

3 – (-7)
-5 – (-9)

Simplify the following:

ExamplesExamples

) 7 ( 5)a   

) 2 6b  

) 64 ( 13)c  

) 17 29d 

3 21 ) a a
7 92 ) b b
4 53 7 7)

7 44 10 10)

2 35 10 10 10 )

The Product of Powers Property:

To multiply powers with the same base ________________

______________________.
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The Quotient of Powers Property:

________________base & ________________ the exponents.
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